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ALUMNE/A:
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PROPOSTA DE TREBALL
a) El vector
 INCLUDEPICTURE "D:\\WEB_meva\\vectors\\gif\\vec_u.gif" \* MERGEFORMATINET 


 té argument 60º. Quin argument tenen els següents vectors:  3, - 2[image: image2.png]


, ½[image: image3.png]


, - 1,5[image: image4.png]


 i  2,4[image: image5.png]
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b) Si el vector[image: image6.png]


 té argument 145º, quin argument tenen els vectors  - 5[image: image7.png]


,  4[image: image8.png]


,  - 3[image: image9.png]


,  2[image: image10.png]


 i  -[image: image11.png]
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